Operations on Functions Practice

Today's Plan:

Learning Target (standard): | will describe quadratic equations as
functions. | will perform operations on functions.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will. Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.
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Operations on Functions Practice

6)g(n)=n>+3n
f(n)=2n+3

]

K= *3(9)
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Graph.
f(x)=—x"-4x
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£2)=

Evaluate.
f(x)=-2x>+3x-1 g(x)=4x" —6x+2

F(=2)g(1)

= -%-0-\ J0N=40)-u(iy+2
£2)=-, N

2(2)+3(:2)-\

9()=0
+2) 9(M=-15-0
£62):90)=0

g(-3)

Evaluate.
f(x)=3x-2 gx)=-x"+2x-4

J)

t(2)=3()-2
f "
(2)=y 903)=-(3) 2(3)
*8-(y
9¢3)=-19
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Evaluate.
f(x)=3x-2 g(x)=—x"+2x-4

21 (1)-3¢(2) .
0= 30)-2 3(23;(2) 20)-
=3-2 -4
“—Y{):\ 3(2>:-L|
RG=9)  “HD=3()

70 N M, O]
“260)-2(2)=-2+12

Evaluate.
f(x)=3x-2 g(x)=-x"+2x-4
2g(=2)-3f(1)  £0)=3()-2

3(—2)=—(—2)2+2(o2)-4 p ?’_-2
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9(2)=-12 Ir0)=30)
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29(2)=24

29(0)-3F() =243
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Assignment:

Operations on Functions 2

#1-6

* Show ALL steps and label using
appropriate function notation. *
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